

# City of Augusta Landfill Project

Quote #Q000917 v1

Prepared For:

City of Augusta Georgia

John Ussery 452 Walker Street Augusta, GA 30901

P: E: JUssery@augustaga.gov

Prepared by:

**GTS Solutions LLC - Columbia** 

Tom Booth 700 Gervais St. Suite 250 Columbia, SC 29201

P: 803.466.5000 E: rbooth@gogtss.com Date Issued: 08.02.2024 Expires:

08.30.2024

#### Gate Entrance

Description		Price	Qty	Ext. Price
Cameras			1.20	
5801-721	AXIS T91L61 WALL-AND-POLE MOUNT	\$122.17	3	\$366.51
01981-001	AXIS Q6010-E 60HZ	\$1,799.00	3	\$5,397.00
Switches	THE PERSON OF THE PROPERTY OF THE PERSON OF		ATE IV	
IE-3300-8P2S-E	Catalyst IE3300 with 8 GE PoE+ and 2 GE SFP, Modular, NE	\$6,002.77	1	\$6,002.77
SD-IE-4GB	IE 4GB SD Memory Card for IE	\$268.28	1	\$268.28
GLC-LX-SM-RGD=	1000Mbps Sngle Mode Rugged SFP	\$556.00	2	\$1,112.00
NDR-480-24	MEAN WELL Industrial DIN Rail Power Supply, 24 Volt 20 Amp 480 Watt - NDR-480-24	\$200.00	1	\$200.00
Hardware and C	ables			
VN183151-3	INTEGRATED AC/DC POWER SYSTEM FOR CISCO	\$2,842.67	2	\$5,685.34
TWPMK-16-UNIV	UNIV POLE MOUNT KTI (FITS 12" DIAMETER)	\$174.67	2	\$349.34
M58772	VERSALAN 23-4P TP BC CAT 6 INDOOR/OUTDOOR FLOODED BLACK JCKT REEL ROHS	\$926.67	1	\$926.67
Service - Integration Services	GTSS Integration Services Per the Signed Scope of Work	\$9,800.00	1	\$9,800.00
	Section Subtotal			\$30,107.91
			Subtotal:	\$30,107.91

#### Maintenance Building

Description	Hiller M. San Park Sana San San San Sa	Price	Qty	Ext. Price
Cameras				
5801-721	AXIS T91L61 WALL-AND-POLE MOUNT	\$119.00	14	\$1,666.00
01981-001	AXIS Q6010-E 60HZ	\$1,799.00	14	\$25,186.00
Switches	MARKET MARKET MARKET PROJECT	Mark the service of the service of the		THE SETTLE STATE

Quote #Q000917 v1 Page: 1 of 4



### Maintenance Building

Description		Price	Qty	Ext. Price
IE-3300-8P2S-E	Catalyst IE3300 with 8 GE PoE+ and 2 GE SFP, Modular, NE	\$6,002.77	2	\$12,005.54
IEM-3300-8P=	Catalyst IE3300 w/ 8 GE PoE+ Copper ports, Expansion Module	\$3,361.44	1	\$3,361.44
SD-IE-4GB	IE 4GB SD Memory Card for IE	\$268.28	2	\$536.56
GLC-LX-SM-RGD=	1000Mbps Sngle Mode Rugged SFP	\$556.00	2	\$1,112.00
NDR-480-24	MEAN WELL Industrial DIN Rail Power Supply, 24 Volt 20 Amp 480 Watt - NDR-480-24	\$200.00	6	\$1,200.00
DIN-RAIL-19	RACK MOUNTED DIN RAIL	\$200.00	2	\$400.00
SM-7M- FIBERJUMPER	7 M SINGLE Mode Jumper	\$30.00	2	\$60.00
Hardware and C	ables			Control of the Contro
VN183151-3	INTEGRATED AC/DC POWER SYSTEM FOR CISCO	\$2,842.67	3	\$8,528.01
TWPMK-16-UNIV	UNIV POLE MOUNT KTI (FITS 12" DIAMETER)	\$174.67	3	\$524.01
M58772	VERSALAN 23-4P TP BC CAT 6 INDOOR/OUTDOOR FLOODED BLACK JCKT REEL ROHS	\$926.67	4	\$3,706.68
FDPPEIG	INDUSTRIALNET FIBER DIN RAIL PATCH PANEL	\$165.33	2	\$330.66
Service - Integration Services	GTSS Integration Services Per the Signed Scope of Work	\$9,800.00	2	\$19,600.00
	Section Subtotal			\$78,216.90
			Subtotal:	\$78,216.90

### **Bucket Truck**

Description	Price	Qty	Ext. Price
Service - Wireless Wireless Installation Services Onsite Daily Rate City of Augusta Landfill One bucket truck, 2 laborers.	\$6,900.00	4	\$27,600.00
		Subtotal:	\$27,600.00

# Exacqvision

Description		Price	Qty	Ext. Price
IP08-144T-R2XW	IP 2U Rackmount X-series, 144TB, Windows	\$32,589.29	1	\$32,589.29
EVIP-01	EXACQ PROFESSIONAL IP CAMERA LICENSE	\$205.36	92	\$18,893.12
Service - Integration Services	GTSS Integration Services Per the Signed Scope of Work	\$9,800.00	1	\$9,800.00
		illian man	Subtotal:	\$61,282.41

### Landfill Trailers

Description	Price	Qty	Ext. Price
AMS3006270 Portable Mast Trailer, Telescoping mast, control cabinet, standard power configuration, Trailer Sensor /Que ASSy T-25	\$18,755.56	3	\$56,266.68

Ounte #0000917 v1 Page: 2 of 4



# Landfill Trailers

Description	Price	Qty	Ext. Price
Service - Integration GTSS Integration Services Per the Signed Scope of Work Services	\$9,800.00	2	\$19,600.00
		Subtotal:	\$75,866.68

### Internet Connection/SDWAN

Description		Price	Qty	Ext. Price
MX68-HW	Meraki MX68 Router/Security Appliance	\$588.00	1	\$588.00
LIC-MX68-SEC- 5YR	Meraki MX68 Advanced Security License	\$1,586.21	1	\$1,586.21
Service - Integration	on GTSS Integration Services Per the Signed Scope of Work	\$9,800.00	1	\$9,800.00
			Subtotal:	\$11,974.21

### Cambium Wireless

Description		Price	Qty	Ext. Price
C000000L033A	Gigabit Surge Suppressor 56V for Hub360r	\$55.80	8	\$446.40
C000000L138A	Grounding Cbl 0.6m w M6 ring to M6 ring	\$5.14	4	\$20.56
C600510C029A	60GHz Bridge in a Box 2Gb with no Cord	\$1,379.01	2	\$2,758.02
EW-E2CNWV2000- WW	60 GHz V2000 Extended Warr 2 Addtl Years	\$30.47	4	\$121.88
MSX-SUB-T4-5	cnMaestroX cnWave T4 5YRsub incl CltNode	\$55.93	4	\$223.72
N000000L155A	CAT6A Outdoor Cable, 100m	\$420.00	1,	\$420.00
N000082L173A	Grounding Kit for CAT5E F/UTP 8mm and Ca	\$23.69	8	\$189.52
N000082L174B	RJ45 Connector for CAT6A Cable, Qty 10	\$12.00	4	\$48.00
C000000L033A	Gigabit Surge Suppressor 56V for Hub360r	\$55.80	4	\$223.20
C000000L124A	Cable Gland Long for 6-10mm cbl M25 Qty5	\$44.66	1	\$44.66
C000000L137A	Univ Pole Mnt Brkt for 1"-3" dia poles	\$26.61	2	\$53.22
C000000L138A	Grounding Cbl 0.6m w M6 ring to M6 ring	\$5.14	2	\$10.28
C000000L141A	PoE60W 56V 10GbE DC Inject Indr Nrg L6S	\$31.94	2	\$63.88
C600500A004A	60GHz cnWave V5000 Distribution Node	\$1,436.11	2	\$2,872.22
EW-E2CNWV5000- WW	cnWave V5000 Extended Warranty 2 Add Yrs	\$63.81	2	\$127.62
MSX-SUB-T5-5	cnMaestroX cnWave T5 5Ysub incl DistNode	\$130.50	2	\$261.00
N000000L155A	CAT6A Outdoor Cable, 100m	\$420.00	1	\$420.00
N000082L139A	Optical CABLE,SM, 30m	\$111.00	2	\$222.00

Quote #Q000917 v1 Page: 3 of 4



#### Cambium Wireless

Description		Price	Qty	Ext. Price
N000082L173A	Grounding Kit for CAT5E F/UTP 8mm and Ca	\$23.69	4	\$94.76
N000082L174B	RJ45 Connector for CAT6A Cable, Qty 10	\$12.00	2	\$24.00
SFP-10G-LR	Cambium 10G SFP+ SMF LR Txvr,1310nm	\$92.51	4	\$370.04
C000000L033A	Gigabit Surge Suppressor 56V for Hub360r	\$55.80	4	\$223.20
C000000L138A	Grounding Cbl 0.6m w M6 ring to M6 ring	\$5.14	2	\$10.28
C600500C029B	60GHz cnWave V2000 Client Node 30W with	\$690.27	2	\$1,380.54
EW-E2CNWV2000- WW	60 GHz V2000 Extended Warr 2 Addtl Years	\$30.47	2	\$60.94
MSX-SUB-T4-5	cnMaestroX cnWave T4 5YRsub incl CltNode	\$55.93	2	\$111.86
N000000L155A	CAT6A Outdoor Cable, 100m	\$420.00	1	\$420.00
N000082L173A	Grounding Kit for CAT5E F/UTP 8mm and Ca	\$23.69	4	\$94.76
N000082L174B	RJ45 Connector for CAT6A Cable, Qty 10	\$12.00	2	\$24.00
			Subtotal:	\$11,340.56

Quote Summary	Man Beeff Williams	Amount
Gate Entrance		\$30,107.91
Maintenance Building		\$78,216.90
Bucket Truck		\$27,600.00
Exacqvision		\$61,282.41
Landfill Trailers		\$75,866.68
Internet Connection/SDWAN		\$11,974.21
Cambium Wireless		\$11,340.56
1.6. (1) 6 (4) 11 (1) (1) (1) (1) (1) (1) (1)	Total:	\$296,388.67

Any purchase order or contract as a result of this quotation is subject to GTS Solutions, Inc. Terms & Conditions.

Purchase Orders resulting from this quotation can be sent to sales@gogtss.com or mail to GTS Solutions, Inc., P.O. Box 727, Chapin, SC 29036. This quotation contains Proprietary & Confidential information and remains the property of the GTS Solutions, Inc.

Acceptance	
GTS Solutions LLC - Columbia	City of Augusta Georgia
Tom Booth	
Tom Booth	John Ussery
Signature / Name	Signature / Name Initials
3	2.0
08/02/2024	

Quote #Q000917 v1 Page: 4 of 4